PRY 701 0N UINAY 2% my = 120 kg ; me = 3 kg MOMA 22 11N1 .AMINRKD DMMWH LW NOYNRD

P23 1A% 1w T

N

M1

v=432m

1m

My
‘&

JPIP2 my SW Y3 MY DR AR ’Lr'WP’W?: INXN

¥12p Py2 on 0N PUIp NXNIM TN 01 PR MR Y vy = 10 2 NP2 Ay m = 300 gr 700
k=201
m

Y

A.

)
27°8pn S Dmopni pIran 1N (X)
Dyn AIT IR TAPY TPYHA A2 PUEpan NPk AP YD 19NN RO, MRy 7onIw NRD (2)
A = 36.87° X7 PRIRD DI ¥12°Wn M PWIT NTPAR A= 40 em KT PP
2NN NYIINA TOMT YR POR 9nP0pnn A2 1 (1)
2P YIM TONT NI NN CPEIRT PN TR (2)

710D

9.52m (2) 2.09 m (1) () Alpee = 1.225 m (R)



/ ) VIV NWIN TN NYIAP MIPNN2 PPONn Skg INony qn 4.1l

.37° a2 non

(uk = 0.75) NI QNN P2 0PN TINN DTPNIND X

37°

9919995 6L AINNN MHPNNI YIVND 9IVINN IONNNA 91NN NN D01
(d=1.5m) 13y Ty un A9y PR X 2

= (Wr =45] ) 1900 NM5Y YT TIN NNV OINA INVNOND )

’166\
NITRM G0N PAOVVON TNN OTPAY NN T
37 TINYOY INKY TN 9NN T OXD POVPPN TIONN DTPRR NN

(MVRY NN T XY NN) .PN)

Amo oo 0 NNN?IN A NTIPINK NNIN IMYn M=1kg monv qn 4.7
\< }—@DD)—‘ N9°00N OPTI 9N VY27 NNNINY NIIN NYO0N NNPI

‘ | 2N NoN XM R=2m

IPAN NVYN 12NN, B NnTPia, m°93vnn nS50nn n°nnn YN

YUPPN MTPRY TN 0P d =1Im DNNY YOP TNIND YPAIRN NVWHN PAY 9NN P2
PN N9PN NN POY YOPN TWND 9P NN DADINDN yopn Nspa . 1, =0.2
202N N8P IIMYNRN QN .DIWIN NNIND IIN PP IN I2INND XOPN IWUND

0.1m 7y°w2a 719127020 MENDONNY DI X29P2 YN NPIIVIN
(v =6 %f) NP2 NYION W2 AN MDD O N
(k = 3600%,) NOPN YV MDD YIAP N 2

(h =1.6 m) QPN TINNYIY INKRD NN YOI IPAIND NVWNIN YN NN NN TY )



